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QUESTION 1

After installing the HPE StoreOnce VSA into the VM environment, where can the version number of the software be
checked?

A. in the install log file

B. on the console login screen
C. in the install messages

D. on the VMware vCenter

Correct Answer: A

QUESTION 2

An HPE StoreVirtual 3200 solution specifies 802.3ad (LACP) bonding is required for the network interfaces. What must
be considered when implementing this solution?

A. Only one of the chosen network interfaces will actively pass traffic.

B. The network interfaces chosen may operate at the different speeds.

C. Additional switch configuration will be necessary.

D. The network interfaces chosen must be cabled to different switches.

Correct Answer: C

HPE StoreVirtual 3200 provides three options for the teaming/bonding of the network ports on each storage
controller--Active-Passive, Link Aggregation Dynamic Mode (LACP), or Adaptive Load Balancing (ALB) bonding. The
simplest solution, the Active-Passive bonding, utilizes only one of the available network ports per controller. The most
complex solution, the LACP (802.3ad) bonding, delivers bandwidth aggregation and redundancy across both controller
network ports but requires additional switch configurations such as IRF trunking. The preferred and recommended

bonding mode is ALB, where the network ports may be connected to different switches, therefore, support switch
failover.

QUESTION 3
An HPE MSA 2042 supports three different types of drives. What is the best practice when enabling storage tiering?
A. Configure affinity per virtual volume and schedule optimization times.

B. Create three storage pools; assign performance and standard tiers to controller A and assign archive tier to controller
B.

C. Configure affinity per storage pool, and set up virtual volume for tiering enabled.

D. Create three storage pools, assign them to same controller, and define affinity at a Virtual Volume level.
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Correct Answer: A

QUESTION 4

A customer has HPE Data Protector and a StoreOnce VSA at a remote site that must replicate to the corporate data
center StoreOnce backup device. What considerations must be taken into account to allow for Catalyst replication?

A. Data Protector Catalyst replication will rehydrate the data on the StoreOnce VSA then write to the data center
StoreOnce.

B. Data Protector will write 2 backups: one to the StoreOnce VSA, the other to StoreOnce at the data center.
C. Data Protector Catalyst replication requires gateways to both sites to use Object copy.
D. Data Protector Catalyst replication is configured through the replication license on the StoreOnce VSA.

Correct Answer: C

QUESTION 5

A storage integrator is creating a domain in the 3PAR StoreServ Management Console (SSMC).
Which settings of a 3PAR virtual domain have to be configured? (Choose two.)

A. Name

B. OpenLDAP server

C. Active Directory Domain Controller

D. Storage Controller

E. Storage System

Correct Answer: AE

Latest HPEO-J50 Dumps HPEO-J50 PDF Dumps HPEO-J50 Exam Questions

Latest HPEO-J50 Dumps | HPEO0-J50 PDF Dumps | HPEO0-J50 Exam Questions 3/3


https://www.geekcert.com/hpe0-j50.html
https://www.geekcert.com/hpe0-j50.html
https://www.geekcert.com/hpe0-j50.html
http://www.tcpdf.org
https://www.geekcert.com/hpe0-j50.html
https://www.geekcert.com/hpe0-j50.html
https://www.geekcert.com/hpe0-j50.html

